HERTRR

BT HEEBREREHHAN GEEH B S8 [(FTERERER]

4 [E (H31) KBRFFEN 52 &5
S— — EE4H’2E|IE?’£(?;22 ”4/2) _
HAMEEEH A EEREEN &5t
(A) (B) (A+B)
KB 133,739 524 134,263
kil 37,976 261 38,237
FHET 8,203 57 8,260
Eim 18,650 0 18,650
R 2,957 82 3,039
wHE 11,784 52 11,836
RAEM 2,440 31 2471
= 16,172 75 16,247
HiEW 3,361 14 3,375
SFATH 5121 2 5123
WA 22,217 193 22,410
KA 11,384 30 11,414
I\ETH 7473 178 7,651
RIEET 3,761 1 3762
= HB#Hm 4114 18 4132
BEIH 11,721 72 11,793
AIREEH 5,161 0 5,161
IR 4421 0 4421
PN il 2,830 40 2,870
MR 9,360 96 9,456
HE@ET 5,964 25 5,989
R 1,745 42 1,787
FIREH 4,090 44 4134
MES 3,544 32 3576
b il 1,828 21 1,849
=Aa T 1519 9 1528
BHEN 2,030 52 2,082
E PN 14,655 271 14,926
SRET 2,646 50 2,696
R{EBR ™ 1,261 12 1273
kil 3,127 6 3,133
AR AL 1,652 18 1,670
BREE 2921 12 2,933
mat
(KR R URHRC) 198,112 1,535 199,647
SZHT 1,425 0 1,425
1 1,106 4 1,110
HESAET 442 2 444
A [E BT 542 2 544
HE HRET 1977 2 1,979
H R ET 334 5 339
i) 1,013 8 1,021
AFH] 816 17 833
AT AT 774 3 777
FERRA 216 2 218
BT ET 8,645 45 8,690
GiIES

(KR R URHERC) 206,757 1,580 208,337
RBRAFET 378,472 2,365 380,837
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S (H31) KFR T AR

AR2BIRTE (3722~4.2)
THNE  ERREERrAEREEE| A W
(A (B) (A+B) I
ESSHEA 6,577 10 6,587 o
B MEX 5279 25 5,304
EIE =TS 2,941 4 2,945
B K 3,603 5 3,698
B HRK 3,288 1 3,289 n
EIEES 3,148 2 3,150
Bl BX 4,015 15 4,030
B AFK 4572 14 4,586 =
EEEEETS 3,342 6 3,348 —
Bl SREX 2,043 11 2,054
EEEINES 4,981 8 4,989
EEFII=S 6,178 11 6,189 -
EE SIS 8,320 15 8,335 —
El Bk X 3525 0 3,525 -1
EIET 3837 12 3,849 A
EIES 5544 70 5,614
B BEX 8,121 24 8,145
B ERX 6,112 25 6,137 4 1
B FAI % B X 4795 17 4812 Ll
& F2IR 8973 33 9,006 IV
Bl FEX 8,154 2 8,156
B BmESKX 6,132 0 6,132
B THKX 13494 131 13,625
B R 6,675 33 6,758
il 133,739 524 134,263
S (Hsl;_xu&nﬁfu%
4F28 87 (3./22~4./2) as
THNE  ERREERrAEREEE| A Al
(A) (B) (A+B) [3]
BT 5 444 54 5498
EHEES 5,685 67 5752 3
EHE T 4267 13 4,280 =
Bl X 5461 60 5521 R
B FX 8424 1 8425 i3
B ItX 7413 51 7464 "
B ZREKX 1282 15 1297 L
i 37,976 261 38,237




